LZERE

BRIRB &R bS] B4 | B98E|ZERE| B 5 &
BeRETH  |(H150)
BiKEMBT  |HPPE(EFRAfAZES) L=5.00m ¢ 150 PN 28 140m 7 5% (5%0m)
@ 150(P) HPPE(E%) L=5.00m ¢$ 150 V. 2 10m#7 2% (FE0m)
PEZ3A 2k @ 150(P) x ¢ 100(P)| {& 1
EFfZF—X ¢150x ¢ 100 | 1A 1
¢ 100(P) HPPE  L=5.00m ¢ 100 VN 1 2m7i E%(5%3m)
AHEIEE (P) ¢ 100 x 45° & 1
AHEEHE (P—-DIP)EEE LR @100 x 45° & 1
BRI —bk BRI —bk W=150S m 152.0 140+10+2
HEFERET RURA—ARB YIRS —IL I # ¢ 150 = 2
$150(P) TtUHE H=800 #H 2
HAREBRET SHARE 75 H® 1
®75 IS H=200 ®75 = 1
IS 75 & 2
SHXIRE H=800 #H 1
KB HRILFED KGR AER) ¢ 150 x ¢ 20 & 9 a7 — k%
AL F $20 & 9
HRLSKIE(P) [HIVP  L=4.00m @20 PN 6 144 % 2.5m
$ 150 x ¢ 20 HiT /LA ®20 & 18
Hiv4 vk $20 18 9
BRI —bk e W=150S m 225
BE (¢ 100)
BLKEMRT HPPE(EFZ Ot A ZEE) L=5.00m $ 100 V. 17 85m# 5% (F£0m)
¢ 100(P) HPPE(E %) L=5.00m ¢ 100 ¥ 1 5m# E% (5% 3m{E )
EFEZAUR ®100x11° 1/4| {& 3
EFFIZAUR $100%22° 1/2| & 2
EFFZANUR ¢ 100 x 45° e 2
EFfSZF—X ¢ 100 x 100 & 1
EFLTa—Y $100% ¢ 50 & 1
AhEE (P) ¢ 100 x 45° & 2
PCYaA h(P—DIP)RIEE LR $ 100 & 1
RS —b BRI —k W=150S m 90.0
TUIHHET RURA—FEY I — )L # @100 = 2
¢$100(P) TH=E H=800 #H 1
TtUH=E H=600 #H 1
ERFHET INRZEZF@vo) 25 & 1
25 ERARYIR ¢ 350 H=600 2] 1
YRV KR (RYER) $100% ¢ 25 & 1
GPFvbk @25 & 1
GPY4 vk 25 18 1
fasviryk $30x @25 2] 1
KB HRILFED KGR AER) 100 x ¢ 20 & 7 a7 — k%
AL F $20 & 7
gfég?;kz*f HIVP__L=4.00m 20 x 2
N=74 HITJLAR 20 & 14
Hiv4 vk $20 18 7
e RV —k W=150S m 70 1.0m x 144
VIEY s EE#1E# (¢ 50)
BLKEMERT HPPE (EFZ Ot A ZEE) L=5.00m ¢ 50 V. 5 25m#ER(FE0m)
®50(P) AHEERE (P) ¢ 50x45° & 2
PVZaA b ¢ 50 2] 1
RS —b BRI —k W=150S m 25.0
TUIFHET HREL @50 = 1
¢ 50(P—V) Bl ryk(P) ¢50 & 2 Aa7ft
TtUH=E H=600 #H 1
KB HRILFEDKIRGEERER) $50x ¢20 & 1 a7 — k%
IZRVIAVb $20 2] 1
Z;iﬁgggg P Thive L=400m 20 x 1
N=1 HITJLAR 20 & 2
Hiv4 vk $20 18 1
e RV —k W=150S m 25 25mx 14




HEE

BRIRA 2% & B | B | EEHE| B i &
BZESTR
BKEMZT RYUIFLUEHRT ¢ 150 m 150.0 140+10
¢ 150(P) RYIFLUEYMT ¢ 150 [m} 1
ANZHIVBFTI(P) ¢ 150 m] 1
RYIFLUERFI (MEES) ¢ 150 1OMF | & 28
RY)IFLUEBRFI (REES) ¢ 150 20#F | &ipr 1
¢ 100(P) RUIFLUERHRT ¢ 100 m 2.0 2m# 5% (F%3m)
RUIFLUEYRT ¢ 100 m] 2
AHZHIILHFETI(P) ¢ 100 m} 5
EHRI—b BRY—k m 152.0 140+10+2
HUHERET TOFHET ¢ 150 H 2
¢ 150(P) ANZHILHFT ¢ 150 m] 4
FEHET H=800 #R 2
BERE ] 2
HARBRET HAREBRET ¢75 = 1
ISUUHFT ¢75 m] 1
FREHET H=800 #R 1
BERE &8 1
kBT YRS KEFREL RUER $150% ¢ 20 & 9 a7 — kR
HRIL kiR HERLAHT 20 m] 9
¢ 150 x ¢ 20 Eo—LEHBT $20 m 225 144 x 2.5m
N=ofF TSHET $20 =t 54
ARy —bk RS —bk W=150S m 225
BE
BKEMRT RYIFLUERHRL ¢ 100 m 90 85+5
¢ 100(P) RUIFLUEYMRT ¢ 100 [m] 5
AH=HIILHFETI(P) ¢ 100 m} 6
RY)IFLUERFI (REES) ¢ 100 1OMF | &EAT 23
RYIFLUERFI (MEES) ¢ 100 208 F | &Efr 3
BRY—k BRY—k W=150S m 90.0
HUHERET TOFFRETL ¢ 100 H 2
¢ 100(P) ANZHILHFT ¢ 100 m] 4
FEHET H=800 #R 1
REBRET H=600 #8 1
BHERE ® 2
ERFRET ERFHRET 25 s 1
$25 YRS KEFEIGRIER) $ 100X ¢ 25 & 1
HERLAHT 30 m] 1
" ¢25 m] 2
REBRET H=600 #8 1
BHERE & 1
HAKUEBT YRILD KRBT KRIUER @100 x ¢ 20 &8 7 a7 —{RE
HRILA K MERLIAHTL ®20 A 7
¢ 100 % ¢ 20 E-—ILEHHKT 20 m 7.0
N=7H TS#ET $20 &) 42
BRY—k BRY—k W=150S m 7.0 1.0m x 744
VIEY 7 EF#1 242
¢ 50(P) RUIFLUEHRRT 50 m 25.0 21m#r a% (5% 4m)
RYIFLUEYIET ¢ 50 [m} 3
RY)IFLUERFI (REES) ¢50 1O#F | &pr 5
AHZHIILHFETI(P) ¢ 50 & 6
BRY—k BRY—k W=150S m 25.0
HUIFHET TUIHHET ¢ 50 = 1
¢ 50(P) SHENOZRERLAHES 50 [m] 2
RYIFLUVEMFET ¢ 50 [m} 2
REBRET H=600 #8 1
BHERE ® 1
HAKUEBT YRILD KRBT KRUER $50% @20 &8 1 a7 —{RE
HRILA K MERLIAHTL ®20 A 1
$50% 20 E-—ILEHHKT 20 m 25
N=1H TS#ET $20 &) 6
BRY—k BRY—k W=150S m 1.0 2.5m X 64
HEKHER
EKEER BKEERT HKERE A 0.134 B =L/2000




T T % E %

% ¥ AR oy B BEthE
B BETH

BLKEMEXL H=800 | HFED 060 m x 1040 m X 1520 m = 9485 m3

W ERYE T JHXEE 100 m 1000 m X 10m = 1.00 m3
a8 9585 m3 100

H=800 | EFE® 060 m x 0380 m X 1520 m = 34.66 m3

BHIERLIGREFY| HAE 100 m 0350 m X 10m = 0.35 m3
EH 3501 m3 40

H=800 | EFE® 060 m x 0490 m X 1520 m = 4469 m3

BHERLI(GREL) | Ha 100 m 0500 m X 10m = 050 m3
EH 4519 m3 50
RInET 95.85 - 4519 /0.9 = 46.19 m3 50
TRERET t=10cm | RC-30 060 m x 1520 m = 9120 m2 91
LTERRET t=8cm M-30 060 m x 1520 m = 9120 m2 91
RAsEHZE T t=3cm FRAL 060 m X 1520 m = 91.20 m2 91
AEIBAsSHET t=4cm L 080 m x 1520 m = 121.60 m?2 121
AsEHE R I T t=4cm 152.00 X 40 = 6080 m 608
AsTHEEMRBER T t=4cm 080 m X 1520 m = 121.60 m?2 121
RAsETHEE IR BE R T 060 m x 1520 m B = 91.20 m2 91
AsEHELER- LN T A X004 + B X 0.03 = 760 m3 7.6
HWAKPIBI |MEKEL H=800 | HFED 060 m X 1040 m X 225 m = 1404 m3 14
WHERLIGARFYS)| H=800 | MrE®D 060 m x 0380 m X 225 m = 513 m3 5
HMmMERLI(FEELT) | H=800 | WED 0.60 x 0.490 x 225 m = 6.62 m3 7
HiuET 14.04 - 6.62 /0.9 = 6.69 m3 7
TRERET t=15¢m | RC-30 060 m x 225 m = 1350 m2 14
LTERRET t=12cm M-30 060 m x 225 m = 1350 m2 14
RAsEHZE T t=3cm FRAL 060 m X 225 m = 1350 m2 14
AEIBAsSHET t=5cm R 080 m x 225 m = 1800 m2 18
AsEHE IR I T t=5cm 2250 m X 40 % = 900 m 90
AsEHERRBER T t=5¢m 080 m X 225 m = 1800 m2 18
RAsEHEE IR BE R T 060 m x 225 m B = 1350 m2 14
AsEHELER- LN T A X004 + B X 0.03 = 113 m3 1

BB

BKERET |, oo H=600 L&'ﬁ@@ 060 m X 0725 m X 760 m = 3306 m3
(BRS<ER) a&t = 33.06 33

BREELTEETYS) H=600 I (o) 060 m x 0325 m X 760 m = 1482 m3
a&t 14.82 15

BB T () HzeooA= HEQ 060 m X 0300 m X 760 m = 1368 m3
=5 13.68 14
RInET 33.06 m3 - 1368 m3 / 0.90 = 17.86 m3 18
TRERET t=10cm | RC-30 060 m x 760 m = 4560 m2 46
LTERRET t=8cm M-30 060 m x 760 m = 4560 m2 46
RAsEHZE T t=3cm FRAL 060 m X 760 m = 4560 m2 46
AEIBAsSHET t=4cm R 080 m x 760 m = 60.80 m2 61
CoffZEhRuIBr T t=10cm 76.00 X 40 % = 3040 m 304
CoffZEhREk T t=10cm 080 m X 760 m = 60.80 m2 66
RAsEHEE IR BE R T 060 m x 760 m B = 4560 m2 49
CoffiZEsk Bk - 0T AXO0.1 = 6.08 m3 6
AsEHELER- LN T B X 0.03 137 m3 1




BE

Ebk"éfﬁ%&l Mg B T H=600 | KRE® 060 m x 0785 m X 140 m 6.59 m3
(132%) & = 6.59 7

BEEL TR Ty HzeooA: EQ 060 m X 0325 m X 140 m = 273 m3
= 2.73 3

MR T +) HzeooA EQ 060 m X 0290 m X 140 m = 244 m3
= 244 2
HIumET 659 m3 - 244 m3 / 0.90 = 389 m3 4
TRERET t=10cm | RC-30 060 m X 140 m = 840 m?2 8
FERET t=8cm M-30 060 m x 140 m = 840 m?2 8
RAsTHET t=3cm FRAL 060 m x 140 m = 840 m?2 8
AEIHAsSHET t=4cm ozt o1l 080 m x 140 m = 1120 m2 1
AsEHZERUI#T T t=4cm 14.00 x 40 = 560 m 56
AsTEERBER T t=4cm 080 m X 140 m = 1120 m2 1
RAsTHEE R T 060 m x 140 m B = 840 m2 8
AsEHELER- LN T AX0.04 + B X 0.03 = 070 m3 0.7
WAKYIB T |#WEKET H=600 | BFEQ 060 m X 0725 m X 70 m = 305 m3 3
(JRE<ER)  |[MHWIEBERLIGARFYY)| H=600 | BFEQ 060 m x 0325 m X 70m = 1.37 m3 1
MBIERLIT(4LT) | H=600 | HEQ 060 m X 0300 m X 70 m = 126 m3 1
HIuMET 3.05 - 1.26 /0.9 = 1.65 m3 2
TEBET t=10cm | RC-30 060 m x 70 m = 420 m2 4
FERET t=8cm M-30 060 m x 70 m = 420 m2 4
RAsSHET t=3cm FRAL 060 m x 70 m = 420 m2 4
AfEHCoMET t=10cm 080 m x 70 m = 560 m2 6
CoffiZEhR VI T t=10cm 7.00 X 40 % = 280 m 28
Coff S RRFRR: T t=10cm 080 m X 70 m = 560 m2 56
RAsTH R T 060 m x 70 m B = 420 m2 4
CofhZEm &Mt - 05 T AX0.04 = 280 m3 3
AsTRERER- 0O T B x 0.03 = 0.13 m3 0.1

WIEY s RS

BKEMET Mg B T HzeooA: HE@® 060 m x 0723 m X 250 m = 10.85 m3
= 1085 m3 10

O H=600 | BFE® 060 m X 0263 m X 250 m = 395 m3
CE 3.95 m3 4
MWIERLI(FEL)| H=600 | HE® 060 m X 0290 m X 250 m = 435 m3 4
HIumET 10.85 - 435 /0.9 = 601 m3 6
TRERET t=10cm | RC-30 060 m x 250 m = 1500 m2 15
FERET t=8cm M-30 060 m X 250 m = 1500 m2 15
RAsTHET t=3cm FRAL 060 m x 250 m = 15.00 m2 15
AEIHAsSHET t=4cm 2k o1l 080 m x 250 m = 2000 m2 20
AsEAZEr UI#T T t=4cm 25.00 x 40 = 1000 m 100
AsTREERBER T t=4cm 080 m X 250 m = 2000 m2 20
RAsTHEEhR B T 060 m x 250 m B = 15.00 m2 13
AsEHELER- LN T AX0.04 + B x 0.03 = 125 m3 1
WAKYIB T |#WEKET H=600 | BRE@® 060 m X 0723 m X 25 m = 1.08 m3 1
MEHERLIGIEFYS)| H=600 | BIE® 060 m X 0380 m X 25 m = 057 m3 0.6
MBIERLI(4ELT) | H=600 | HE® 060 m X 0290 m X 25 m = 044 m3 0.4
HIuMET 1.08 - 0.44 /0.9 = 060 m3 0.6
TRERET t=10cm | RC-30 060 m x 25 m = 150 m2 15
FERET t=8cm M-30 060 m x 25 m = 150 m2 15
RAsTHET t=3cm FRAL 060 m x 25 m = 150 m2 15
AEIHAsSHET t=5cm 2k o1l 080 m x 25 m = 200 m2 2
AsEAZEr UI#T T t=5cm 250 m X 40 & = 100 m 10
AsTREERBER T t=5cm 080 m X 25 m = 200 m2 2
RAsTHEEhR B T 060 m x 25 m B = 150 m2 15
AsEHELER- LN T AX0.04 + B X 0.03 = 013 m3 0.1




6150 HPPE fd /K & ) & R
PEE (m) \
5 OE M E RO ERE S | UL W%
-1 2.2 Z.-3 Zi—4 -5 ) (O5=) ()
HPPE 150 5. 000 2. 000 3.000 5. 000 1 B2 J2. 25 T
HPPE 150 5. 000 5. 000 5. 000 "
4
5
6
g 10. 000 7. 000 3. 000 10. 000 1
10. 000 7. 000 3. 000 10. 000 1. 000




$100 HPPE fid K & 41 & %
UEE (m)
7%%E (m) Gl T
=] forcs Vo =
AR B RO ERE zu . K &
5}
z.-1 Z.-2 Z.-3 Z.—4 Z.-5 OD—@ (A)
AN N7 %
HPPE 100 5. 000 1. 000 1. 000 2. 000 3. 000 2 2 R TR
HPPE 100 5. 000 5. 000 5. 000 HiH
4
i 10. 000 6. 000 1. 000 7. 000 3. 000 2
10. 000 6. 000 1. 000 7. 000 3. 000 2. 000




$100 HPPE B /K % B & £ (F)

UEE (m)
Pirs Pirs A P— \’@E t *I
5 OEA | HE|OERE P PR (m) Wt T
Hog % -
2
-1 Z.-2 Z.-3 Z.—4 -5 O-—©® (A)
1 HPPE 100 5. 000 1. 000 3. 000 1. 000 5. 000 2 3
9 HPPE 100 5. 000 2. 000 1. 000 1. 000 1. 000 5. 000 3 H3E
3 HPPE 100 5. 000 3. 000 2. 000 5. 000 1 HE
z 15. 000 6. 000 6. 000 2. 000 1. 000 15. 000 6
15. 000 6. 000 6. 000 2. 000 1. 000 15. 000 6. 000




$50 HiVP fd K & b & &£
UEE (m) \
B OEHW B R |0 ERE S BE (m) L W=
-1 ) Z.-3 Z.-4 -5 ) O-—©® ([)
HPPE 50 5.000 2.000 2.000 1. 000 5.000 2 MEY o 158
HPPE 50 5. 000 5. 000 5. 000 U
HPPE 50 5.000 5.000 5.000 N
HPPE 50 5. 000 5. 000 5. 000 U
HPPE 50 5.000 4.000 1. 000 5.000 1 N
7 25.000 21.000 3.000 1. 000 25.000 3
25.000 21.000 3.000 1. 000 25.000 3.000




